ETEE 1223 Homework 5A – Node, Mesh, Delta-Y, Superposition, Thevenin
17-8b.
Find the mesh currents for the circuits below. Determine the current I.
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 [Ans: 0.681 angle -162.9 A]
17-22. Write the nodal equations for the network given below and find the voltage across the capacitive element.
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[Ans: v1 = -15.4 +j 1.8]

(continued….)

17-33. Using a (-Y or Y-( conversion, determine the current I for the network given below. (E = 100V(0°.
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[Ans: 36.9 angle 23.87]
18-1. Using superposition, determine the current IL through the inductance for the networks given below.
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[Ans: 
a. (3.71 angle 2.878) + (3.72 angle -67.125)

   


b. (.5 ang -120) + (3.33 ang -90)]

18-12. Find the Thevenin equivalent circuit for the portions of network shown,  external to elements between points a and b.
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[Ans:  a. Vth = 80 ang 36.87; b. Vth = 16.639 ang -33.69]

HINT: Find the Y consisting of 5-ohm resistors.








